Friesencup 2015 - Gruppenauswertung

=
5 = O = 2
K Z > 7] £
o Bootsname| Gruppe = 7 T < Gesamt
1 Kiwi Magic 1 36 34 34 104
2 X-mal 1 18 40 32 90
3 Tjorven 1 38 38
4 J-Mad 1 30 30
5 Hebbes 1 26 26

Gruppe 2

£
5 = O = 2
K Z > 7] £
o Bootsname| Gruppe = n T <
1 Kreiertje 2 28 38 66
2 Dwarsléper 2 40 40
3 Eike 38 38
4 Tina 36 36
5 Thalassa 2 34 34
6 Rimdriewer 2 32 32
7 Carpe Diem 2 28 28
8 Faxe 2 24 24
9 Fofteiner 2 24 24
10 Swantje 2 20 20
11 Spirit 18 18

Gruppe 3

£
5 = O = 2
K Z > 7] £
o Bootsname| Gruppe = 7 T < Gesamt
1 Mucki 3 26 24 26 76
2 Grautvornix 3 22 22 44
3 Lilli 3 40 40
4 Tine 3 36 36
5 Miss Moody 32 32
6 B6 3 30 30
7 Rebell 30 30
8 Paula 3 28 28
9 Clarina 20 20
10 Kankinje 3 16 16
11 Diva 16 16
12 Mercator 14 14
13 Sunny 8 8




Friesencup 2015 - Gesamtauswertung

£
5 = O = 2
K Z > 7] £
o Bootsname| Gruppe = 7 T < Gesamt
1 Kiwi Magic 1 36 34 34 104
2 X-mal 1 18 40 32 90
3 Mucki 3 26 24 26 76
4 Kreiertje 2 28 38 66
5 Grautvornix 3 22 22 44
6 Dwarsléper 2 40 40
7 Lilli 3 40 40
8 Tjorven 1 38 38
9 Eike 38 38
10 Tina 36 36
11 Tine 3 36 36
12 Thalassa 2 34 34
13 Rimdriewer 2 32 32
14 Miss Moody 32 32
15 J-Mad 30 30
16 B6 30 30
17 Rebell 30 30
18 Carpe Diem 2 28 28
19 Paula 3 28 28
20 Hebbes 1 26 26
21 Faxe 2 24 24
22 Fofteiner 2 24 24
23 Swantje 2 20 20
24 Clarina 20 20
25 Spirit 18 18
26 Kankinje 3 16 16
27 Diva 16 16
28 Mercator 14 14
29 Sunny 8 8




